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Dballoons and Weights
Part1
Use your vertical number line to make sense of the action of the basket.

1.) Where would the basket rest if you have 4 balloons on the basket?

T4, lands @ +4

9.) Where would the basket rest if you have 1 balloon and 1 weight on the
basket?

1110 +1 then]1 toland @ 0

+1+-1=0

2.) Where would the basket rest if you have 7 balloons on the basket?

17 lands @ +7

10.) Where would the basket rest if you have 3 balloons on the basket and
then add 3 weights to the basket?

T3 to+3then) 3 toland @0

+3+-3=0

3.) Where \chd the basket rest if you have 3 weights on the basket?

3toland @ -3

4) Where wo\I the backet rest if you have 2 weights on the basket?

2toland @ -2

11.) Where would the basket rest if you have 6 balloons on the basket and
then add 3 weights to the basket?

T6to+6then| 3 toland @ +3

+6 + -3= +3

5.) Where would the backet rest if you have 5 balloons on the basket and
then add 2 balloons to the basket?

I5 to +5, ther| 2 more, land @ +

5+ +2=+7

12.) Where would the basket rest if you have 4 balloons on the basket and

then add 6 weights to the basketg
T4to+4therf6toland @ -2

+4 + 6= 2

6.) Where would the basket rest if you have 2 balloons on the basket and
then add 3 balloons to the basket?

T2 to +2, thenT3 more, land @ +

2+ +3=+5

13 Where would the basket rest if you have 5 weights on the basket and
n add 8 weights to the basket?

5 to -5 then] 8 more,land @ -13

-5 + -8=-13

7.) Where would the basket rest if you have 2 weights on the basket and
en add 1 weight to the basket?

21t0-2, then11 more, land @ -3

2+-1=3

14.) Where would the basket rest if you have 5 weights on the basket and
add 4 balloons?

50 -5 ther] 4 to land @ +1

-5+ +4=+1

5.) Where would the basket rest if you have 4 weights on the basket and
en add 2 weights to the basket?

41t0-4, then12 more, land @ -6 4+ -2=6

15.) Where would the basket rest if you have 7 weights on the basket and
en add 2 balloons to the basket?

7 to-7 then| 2to land @ -5

7T+ +2=-5

16.) Where would the basket rest if you have 3 weights on the basket and
en add € balloons to the basket?

3t0-3 then| 8 to land @ +5

-3+ +8=+5




